Exercises 3 : Interaction and Concurrency

Luis Soares Barbosa

Exercise I.1

Prove that states ¢t1 and r1 in the transition systems below are branching bisimilar.

Exercise 1.2

Suppose the following clause was added to the definition of branching bisimulation:

Forall (p,q) € R,
. . . . T T T .o . . . . T T T
o There is an infinite sequence p —1 —1——1 - - - iif there is an infinite sequence ¢ —o—32—2 -

Compare the resulting relation with branching bisimilarity and discuss wether it can be of use in distinguishing divergent
from non divergent states.

Exercise 1.3

In the following cases, discuss whether states ¢o and rg are branching, rooted branching, weak or rooted weak bisimilar.
Justify.




In all diagrams identify the inert 7-transitions.

Exercise 1.4

Show that a branching bisimulation is a weak bisimulation relation.




